Solving Quadratics Q7
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l.a. Complete the area model whose sum is gx

x? + 8x + 7. A few parts have been labeled X M

to get you started. ><« 2 y )

X// r
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b.  Write the multiplication expression : ﬁ >(/

7

" represented by the area model in
factored form. (X_’_ I) (x_{ 7\

c. 6raph the function f(x) = x* + 8x + 7 on the graphing calculator. Do you notice any
relationship between the x-intercepts on the graph and the factored form of the
function? The x-in{ereept 1S xhe oppesite 6§ +he factor
becacse trey most equal zen (4y=o fee e mintercepts)

| o _goluotieons

d. Predict what values of x will satisfy this equation: 0= x*+8x +7
(Where can you find this answer on the graphing calculator?)

o - *These are +he X-infereepts on 9 raph
X="1 ard X= L @ Lok In Aoble. A0 Hrd cdere {j-«:ﬁ&

e. The values of x which make the function equal to zero are called:
Eqoanens
roots Grggh
solutions x-intercepts, because that is where the graph of
zeros the function crosses the x-axis.

2. A signal flare is fired in’ro\‘[bg,amtpwg{ carrier. The height of the flare in feet t
seconds after it is fired isjh = — 161°+ 160t + 384\ Write the equation in factored form.
| Vertex, (5,784 \
. How high will the flare travel? When will it reach this maximum height?
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b. Write the equation in factored form._ j”:((:_}.al\ (t-la\\

' ~bc.  When will the flare hit the water? Fq?kr: ;1’4&;;# e &3 E;?%Q 3: iz
SDLW\(\:Q}; ] Q decmnds ) > 27
LI d. Explain how your answers to parts a and ¢ could be found in.a table and on a graph of the
equation. Use the graphing calculator to verify your answers to parts a and c.
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Solving Quadratics SQ7

Rewrite each of the following equations in factored form. Sketch the graphs. Find the vertex

. b
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Complete parts a — e for numbers 5 and 6.
0. Write the function in factored/standard form.
b. Name the vertex of the function.
Is the vertex a maximum or a minimum point?
Write the equation of the axis of symmetry.
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Factored form: (Y45 )(X~1)
Vertex: (.2 )= g § |
x-intercepts: (L5 & ) (1 o)
Solutions to 0 = x? + 4x -5 |

X= -5 and X = |

—~

+S 72
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Factored form: (X'f = \(X -h:':'l)
Vertex: ("’3» S )
x-intercepts: (-'5’ b};l ( | o) .

Solutions to 0 = x2 +7x+10

= -S -2

and X=

b
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e. Name the coordinates of the x_intercepts. edner2 = 9
5. y=x"-1 6. y=(x+2)x—-4)
ay= Ok )Xt H‘%ﬁ' ' fr ayzX=2x-8&
b (O-1) " Wi b__(1,-9)
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